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This question booklet 15 dipided into

tiwo  sections Section-A and
Section-B. |
In Section-A, there are

70 objective type questions, ou’
of which any 35 questions are
to be answered. [f more thf.i;l
35 questions are answered, thel
only first 35 will be evaluated. Ej
question carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
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etc. on OMR Answer Sheet,

" otherwise the result will be

treated invalid.

In Section - B; there are 20 short
answer type questions. Each
carrying 2 marks, out of which
any 10 questions are to be
answered. Apart from these, there

are 6 long answer type
questions, each carrying
5 marks. Out of which any

3 questions are to be answered.

Use of any electronic appliances 1s

strictly prohibited.



@7 - A / SECTION - A
‘ aﬁﬁgm,fohjectlve Type Questions
gyT AT 1 ¥ 70 7% F WA Wy # @ ww fawew v 0 a4 ow
wdt &1 97 ERT g7 U wet fwer w1 oMR Wz wr fafRa FF A

35 0¥ &T IAT G
Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR Sheet. Answer any

(A) 166x107"g (B)

- (D)

1079 m

10_12 m

10°° m

107" m

35 questions.
1. o ferfier # foran s @
A 10°m B
© 107'm (D)
One picometre is written as
(A) 107 m (B)
€ 107''m (D)
2. frafafaa o =1 ifdes afEdT 8 2
(AL HEHU B ET T Sl
(B) e I a1 H el
(C)  ITeT HIEHITH I AT HIERRE B aEel
(D) HTq H ST A
Which of the following is a physical change ?
(A) Burning of sulphur in air
(B) Burning of carbon in air
(C)
(D) Rusting of metal
3. ﬁmmﬁ{amu]ﬂm@m%

12 g
1-67 x 10

-24

g

[ 118 |

35 x1=35

35 x1=235

Conversion of white phosphorus to red phosphorus

—

1
€ 158

m/xi/A/11002 ]

Page 3 / 24



[ 118]

wn

One atomic mass unit { amu ) 18 cqual to

(&) 166x10 g B) 12¢

(C) T‘Eg (D) 167 x 10 ¢
4-25 um ity § s 6 FE 2

a) 1-0x10% ‘(B]/, 1-5x 1023
© 20x10% (D) 25x10%
The number of molecules in 4'25 gm amrﬁonia is
A) 1-0x10% " (B) 15x10%
(C) 2:0x10% D) 2-5x10%
3mnaﬂa‘qqﬁafmﬂm%mﬁugh:mﬁmmcogmwﬁm%
(A) 32¢g \(BlL—11¢g

(C) 22g . (D) 44¢g

The weight of CO, formed whlé{n 3 g of carbon is completely burnt

in excess of oxygen is t

(A)  32¢g B) llg
€) 22¢g (D) 44¢g
g 1 anfassr ferad fopan 2
(A) A greed (B) - S Jefeh
(C) . . yiwEA (D) TS
Who discovered neutron ?
(A) John Dalton (B) James Chadwick
(C) J.J. Thomson (D) Rutherford
AfiereTer Y & # e 2
\{9/ TAdGH, Wi 3 e (B) ford =g
€ fa v p) b s

B/XI/A/11002 Page 4 / 24
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10.
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Extranuclcar region of an atom contains

(A) Electron, proton and neutron

(B)  Only ncutron

(C) Only proton

(D)  Only electron

frerforfian 3 6w g el ) sres f o 2 2

0

(A) e B) e
© H (D) ¥ 4 F TEl
By which of the following is positron represented ?
) e B e
(C) iH (D) ﬁone of these

%@%ﬁmﬁasﬁﬁﬁhﬁaﬁwm@qﬁﬁmét
Ig HU §

(A) 7S % Fraw (B) 3haTs Ragr w1

(C) HFaaar & fagra s (D) TSl % yEsH g @

"No two electrons in an atom can have all the four quantum
numbers identical.” This statement is of
(A) Hund's rule (B)  Aufbau principle

(C) Uncertainty principle (D)  Pauli's exclusion principle

FIRY, (Z = 24 ) 1 G@) gl fo=ma &

(A) [Ar] 3d°4s’ (B) [Ar]| 3d*4s’
(C) [Ar] 3d°4s’ (D) [Ar] 3d*4s'ap'

The correct electronic configuration of chromium (Z = 24 ) is
(A) [Ar] 3d°4s' (B) [Ar] 3d*4s’®

(C). [Ar] 3d%4s° (D) [Ar] 3d*4s'4p!

m 11002 Page 5 / 24
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11. Qiﬁﬂﬂmﬁlmﬁﬁamm%wﬂmﬁﬁﬁ%m%“th

Tfifea w0 ¥ Rore, 38 W S P aen VA 714 A
(A) 1 argeseia g B) 2 FrquEAr gE
(C) 4 agHeH g™ (D) %a'rgﬁg?ﬁﬂaﬁ

C e i ) 1 :
A gas is initially at 1 atm pressure, To compress it to -Zth of 13

initial volume, essential pressure to be applied is
(A)  1atm ~ (B) 2atm

(C) 4 atm . (D) %atm

12. 79 fRri® (R) %1 9F S.L % 4 g 2
(A) 831x107 erg K™ ' mol ™!
/ "8:31 J K~ mol ™ T

0-0821 litre atm K~ mo[l

(D) 2calK"™ ' mol ™!
The value of gas constant ( R) in S I. unit is

(A) 831x107 ergK 'mol™
B) 831JK 'mol™ |
(C) 0-0821 litre atm K™ mol ™

D) 2cal K 'mol™
13. 44 g CO,, %1 STP W 3 gl &

(A) 22:4L . (B) 224L

(C) 224L | | {\[VEM-BL

Volume of 4-4 g CO,, at STP is

(A) 224L (B 224L
(C) 224L (D) 448L

i ——

T— .. P |

= A



14,

15.

16.

17.

' 1
prgfrfara if a4 A glead b witner, qra fran 1 o o F=H R ?E !

A) O, 3 co, (B) N, 3ﬁ’{{}2

€ ¢l 3 S0, M) Co, A He

Which nf.l.hn following gases does not obey Dalton's law of partial
pressurc 4

A) O, and CO, (3) N, and O,

(C) Cl, and 50, (D) €O, and He

Prfifaa § ¥ B [-AETA - 3 1w TE R ?

e B 2V
(C) 1f% (D) 9_?%

Which of the following is not an expression of root mean square

velocity -?

' }
(A) JEF;T (B) ’SI}:IV
© % o) 2

mﬁwnmmﬁqum%wﬁwm%w

(A) e M (B) drEdtas M
(C) & (D) - FaTEafas A4
The van der Waals’ equation of state explains the behaviour of

which of the following 7
(A) Ideal gases (B) Real gases
(C) Vapour (D)  Non-real gases
79 394 9101 & d1Y wmaammmmmwﬁmm%taﬁﬂﬂﬁ?ﬁ‘ﬁ

wnmmmhmﬁaﬁmﬁaﬂﬂw‘bﬁm%‘D

(n) feufes st (B) & Fl
() s FHl (D) F<UvEh §A
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18.

19.

20.

. ts boiling poi
h its vapor. athllch of the followmg

pilibrium wil
m 9 two phases W

A liquid is [ !
average of the molcculcs i

cqual ?
N (B) Total energy

.tial ener
(A) Potential encrgy e

lar
(C) Kinetic energy (D)  Intermolecu

Fraferfige & ®1 T6T 9 8 P

(A) A (B) zEIHH

(€ wid (D) B
Which of the following is an intensive property ?
(A)  Volume (B) Mass

(D) Surface tension

) % forq Prafrfiga & @19 9 & ?

(C) Enthalpy
st CO(g]+-é-02(g]—)C02[g

(A) AH=AE (B) AH<AE

AH>AE :("b'] gﬁz}.a,ﬁgﬁ

For the reaction, CO( g_)+%02{g]—>002( g) which of the following

(€)

is correct ?

i
¥

(A) AH=AE - ‘(B) AH <AE

(C) AH>AE ' 'Iia(D) None of these
Tt s it et st g %

(A) T H I H (B) TST i F®AT &

(€) fufsran 6 Feq1 & (D) o R F

The enthalpy of a compound1'{:s equal to its
(A)  heat of combustion ‘ (B) heat of formation

(C)  heat of reaction - (D) heat of solution

[B/X1/a711002 ' Page 8 / 24



21.

22.

23.

24,

. [118

(A)  PCl =PCl,+Cl, B) N, +3H,=2NH,
(©) 280, +0,7250, fDl ot @ wft

Low pressure is favourable for which of the following reactions ?
(A)  PCl.=PCl,+Cl, (B) N, +3H,+2NH,

(C) 280, +0,+ 280, (D) - All of these

fraffiaa § fpm arfufean & o K,=K_ AR 2

(A)  H, +1,=2HI (B) 280, +0,+280,

(C) 1:’(31-3 +(312~T—‘F’Cl5 (D) N, +3H, = 2NH,

For which of the following reactions, is K, =K ?

(A)  H, +I,¥2HI (B) 2SO0, +0,=2S0,

©) PCl, +Cl,=PClg D) N, +3H,=2NH,
?E'BISTF?WT.QAB = A, +B, ¥ fou @ fRRE FOAA 49 3, @
s AB < LA, +5B) % e e fRtie 1 A S

(A) 2401 (B) 49
(C) 7 (D) 32
w"-‘_—— '

If equilibrium constant for the reaction 2AB = A,+B, is 49, then

the equilibrium constant for the reaction AB = —%A? +-é—B2 would

be -

(A) 2401 (B) 49

C) 7 _ (D) 32

> Tt AT FATE § HI % 64 g B Ak F &t
(A) 2 B

(€) 5 Dy 025
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26.

27.

The active mass of 64 g of HI is a 2 |itre flask would be

(A) 2 B) 1

(C) 5 (D) 025
10 *M NaOH 9Yd % pH &1 9 & 2

A} 4 (B) 10
(C) 12 (D) 2
The pH of 10 *M NaOH solution is

(A) 4 (B) 10
(€} 12 (D) 2

ﬁv&ﬁgﬂamﬁwﬁmmK 2 @ =gw C 3, 3@'6"3?5@?
HTEH Higur 1 4 S g @

Ka C
(N B
© KC o JKC

. }
The hydrogen ion concentration of a weak acid of dissociation
constant K, and concentration C is.equal to

(I B
© K,C (D) I{ac
frerfafaa & #i7 afem s i 4 -

(A)  AlCI, B) BF,
C  NH, D) FeCl,

Which of the following is not a Lewis acid ?
(A) AlCla : (B) BF
(C) NH

3

3 (D) FeCl 3

IB/XI7a711002 ] Page 10 / 24



28.

29.

30.

31.

118

frafaf@a 4 ®Y1 7023 59 T gy 25 £ arz spaEn w5 w2 o

friferfiga # # Yeeg arfufsean 8 ¢

(A)  NaBr + HCl —— NaCl + HBr

\WHBF + AgNO, ———>AgBr + HNO,

(©) H, +Br, —— 2HBr

(D) Na,O+H,S0, ——> Na,SO, +H,0

(A) A, (B) BF,
{C] NH, M) FeCl,
Which of the following bchaves hoth as Bronsted Acid and Base 2
(A)  AICI, (B) BF,
(C) NH, | (D)  FeCl,
NH, &1 55 37 8

% NH, (B) NH,OH
(C) NH, (D) N,H,
The conjugate acid of NH is
(A) NH, B (B) NH,OH
(C) NHJ D) N,H,
frafafea & godt yaat A F 8 2
(A) HCIO . (B} HCIO,
(C) HCIO, \(D)-"HCIO,
Which of the following is the strongest acid ?
(A) HCIO (B) HCIO,
() HClO, (D) HCIO,

(B/X1/A/11002]

Page 11 / 24



| 118 ]
Which of the following is a redox reactiofi 7

(A)  NaBr + HCl -——»NaCl + HBr

(13)  HBr+ AgNO, ———> AgBr + HNO

(C) H, +Br, —— 2HBr

(D) Na,O +H,SO, — Na,SO, +H,0

32. fufdm c + H,0 —— CO +H,H H,0 % *te &

(A)  ATHIHRS HI (B) 31T ol
_ (C)_—1A) 3R (B) i (D) ¥ B
L In the reaction, C + Hg(j — CO + H,, H,_,O acts as
(A) anoxidizingagent - (B) areducingagent
(C) Dboth (A) and (B) | §D] “none of these
33. W el § FeA 6 SRR e A R g
A -1 B O |
(C) =7 D) +7
Lmdat'mn state of chlorine in perchloric acid is
A -1 (B) O
c -7 . (D) +7

34, K,Cr,0, # Cr+ srfafieo sy 8
Wf’ (B) -7
(C) +2 D) -2
The oxidation state of Cr in K, Cr, 05 is
(A) +6 ) (B) - 7
€ +2 D) -2



35.

36.

37.

38.

118

Prafifad § #17 HTEIFERH U S 41 w1 57w 2 2

(A) - H,S B) S0,

(C) H,0, | (D) H,SO,

Which of the following acts both as an oxidizing and reducing
agents ?

(A)  H,S _ B) SO,

€ H,0, (D) H,SO,

atss &1 fay foema fomn 2

(A) TR (B) ieE

(C) T AW (D) Weefa

Who gave the law of octaves ?

(A) Dobereiner | (B) Newlanﬁs

(C) Lothar Meyer (D) Mendeleev
ifeefta &1 amad Frem Freferfian & Rem o i 2

() o EE (B) T W

(€) =gt wEr (D) ¥4 & ®I3 TE
Mendeleev's periodic law is based on which of the following ?
(A)  Atomic number (B) | Atomic weight

(C) Number of neutrons (D)  None of these

Be 1 1 Freaferfig sl frer e # 7

(A)  Zn (Bl Al

C) L ‘D) Ra

Be resembles in properties with Which of the following ?
(A) Zn - (B} Al

(C) Li (D) Ra
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39, fyafafea o fem ¥a 3 &1 IHNH ged wier & ?

(A) Na® ) mg?'

() Ca*’ (D) Al™

Which of the following cations has the smallest sizc ?

(A) Na' B) Mg?'
(C) Ca* (Dl) - ALY
40. Fefafea 4 +17 w6 € aned & "oy & ?
. (AL-"1Li, Na, K (B) Li, Mg, Ca
"(C) Ni, Cu, Zn (D) F,Cl, Br
Which of the following are members of same period ?
(A) "~ Li, Na, K (B) Li, Mg, Ca
(C) Ni,Cu,Zn (D) - F, Cl, Br
41. 3gd TANS 949 S9AT 2 {

(A) wfE I @ - (B)  wonfaE s F o=
QTR s dw (D) fade snfye sl % e

Electrovalent bond is formed between

(A)  Positively charged ions (B)  Negatively charged ions

(C)  Neutral molecules (D)  Oppositely charged ions

42, frerfed § H-w wtfigs ¢ o

A)_CO, | - (B) NO,
(C) .80, (D) Clo,
Which of the following is linegr ?

(A)  CO, (B) NO,
(€ 8o, (D) Clo,

mnnnol




43.

44,

45.

46.

. [ 118 ]
CusO, . 5H,0 A Jufed av §

A) A et T AR

B) @ wAE aul IHREAA4,

(C) XA wEiew, GEEANE W JyagEgTE
(D) HeEdlH U ITWEEHA

The bonds present in CuSO, . 5H,, O are

(A) electrovalent and covalent
(B) electrovalent and co-ordinate covalent
(C) electrovalent, covalent and co-ordinate covalent

(D)  covalent and co-ordinate covalent

FefertEn 4 fered grggio S99 4 o & 2
(A) CH , COOH (B) NH,
(C) C,H_OH (D) CH,COCH,
In which of the following is hydrogen bond not formed ?
(A) CH,COOH (B) NH 3
(C) .C,H_OH (D) CH,COCH,
pelcicrimolio Bl aqqﬁﬁa FAFEMI I H@en E‘l?ﬁ 8
A) 1. . (B).-
(C) 3 D) 4
The number of unpaired electrons in liquid oxygen molecule is
(A) 1 B) 2
C) 3 D) 4
arsfeam Ffafan & frge ameafas & 2
(A)- FTEgIH (B)  qfem
(C) Trsfrm (D) Rem

B/XI1/A/11002 | Page 15 / 24
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48,

49,

20.

Tritium is an isotope of which of (he following ?

(A) Hvdrogen (13) Tellurium
| (C)  Titanium (D)  Tantalum
Prrferfga # a8 s wlafsateiia 2
(A] EHT RIEESH w3yl gTEEeH
(C)  TaTa FREeA (D) w9} gIgEISH
Which of the following is the most reactive ?
(A} Ordinary hydrogen (B)  Ortho hydrogen
(C) Nascent hydrogen (D) Heavy hydrogen
S & HY I A B B
(A ZTegE (B) TR
(C) Frfree | - (D) v-Fpid
The shape of water molecule is
(A) Tetrahedral o (B) Linear
(C)  Pyramidal (D) V-shaped |
T a1 U1 1 IR g [T g @ |
(A)  ns? . (B) ns'
C)  np® (D)  nd'®
The outer electronic configuration of alkaline earth metal is
(4) ns? (B) ns'
©  np® (D)  nd'®-

Naozwﬁﬁmm%ﬁm%%gamm%mwéim%
3TE 7

(A) CIQWHQ (B) Cl, @1 Na

(C) C12 ayy Na/Hg (D) C]2 ayn 02

\@A/11002| Page 16 / 24
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NaOH is manufactured by clectrolysis of brine solution. The
products of the reaction arc.

(A) Cl, and H, ~ (3) Cl, and Na
(C) Cl,and Na/Hg - - (D) Cl, and O,
o Frfrfm 3w wme AT 1B % weE @ R 2
(A) B f (B) Al
(C). Ge g (D) In
Which of the following is not a member of Group IIAor IB?
(A) B (B) Al
(C) Ge (D) In
52. & T dua i yHly 1 8
(a) IR (B) wEwdISH
(C) SuHEHANH M@?

The nature of bond in diamond 1s -

(A) Ionic (B) Covalent

(C)} Co-ordinate covalent (D)

Wﬁmﬁmmﬁﬁﬁﬁﬁwwmm%mW?

Metallic

53.
A FFA (B) &
) drEe (o) efem
In laboratory first organic compound was synthesised by
(A) Kekulé (B) Hennel
- (C) Wohler (D)  Liebig
54, ﬂhﬁ@ﬁm%ﬁﬂwﬂww@m‘%
(a)  fergd g (B)  HEw@dNSIehdl
(D) T & Hig T

(C) IuEEEIISThdl
71/ A/ 11002 Page 17 / 24
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The basis of combination of clements in organic C”mpﬂunl
r

Y

|

generally

(A)  Electrovalency
(C}  Co-ordinate covalency * (D) Nonc of these

S5, W 1§ Jufdya Rranfid qos &l 8

(B}  Covalency

(A)  — CHO B —co
(C) — COOH (D} — COOR
The functional radical present in an ester is
(A) — CHO (B) — f'JO
(C) — COOH (D) — COOR
56.  F=fafes # # 9%vett WA F1 S qors 2 »
(A) —NH, _ B) = PIJ H
i "
(C) —N— (D) % § =1 98
Which of the following is a ﬁl}ﬁétional radical of secondary amine 3
(A)  —NH, B) - NH
I | ~
(C) —N-— | (D)  None of these
57.  CH,CHO % IUPAC TW &
(A)  UHIfezEsE (B) A Ueerse
(C) it fem (D) e
The IUPAC name of CH3 CHOQ is )
(A} Acetald
O ehyde (B)  Methyl aldehyde
r
s cn o myl methane (D) Ethanal
- 37 HQ_'CHQQHqﬂ IUPAC 919 &
(A)  WOA-1.37 ;
A (B) WIq-2-317e

(C) ﬂ—sﬁﬁﬁ Qa:(:ﬁgfa {D} .

B/X1/A711002 | Paoe 18/ 2



59.

60.

61.

62.

[118]
The TUPAC name of CH,- CH?__ CH,OH is

(A) Propan-1-ol (B) Propan-2-ol

(C)  n-propyl alcohol (D) Isopropyl alcohol
goATel 1 Th @HEda 8

(A) RATA B) sEafE e

(C) sRulE de D) el TmwTE
An isomer. of ethanol is

(A) Methanol (B) Dimethyl ether
(C) Diethyl ether (D) Ethylen'e glycol
C,H,,0 3ga aret ANl % wwreaal 6 Fo we @t 2
(a) 7 B) 6

c 3 i (D) 4

The total number of isomers for the compounds having molecular
formula CH,,0 is

A 7 @ 6

c 3 D), 4
frefifga § 19 e afea A § 2

(A)  1-9=Er (B) 2-U=HA
(C) 3-i=mE (D) 1A

Which of the following is an optically active compound ?
(B) 2-Pentanol

(A) 1-Pentanol
(D) 1-Butanol

(C) 3-Pentanol

A9 370y A hIe TATT] h THRCT B
A) sp B) sp’
© sp° (D) dsp® |
The hybridization of carbon atom in mcthang molecule is
(A) sp ®) . sp®
© sp° (D) dsp* -

o1 7A/110070 | Page 19 / 24
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63, o suq ) 9Rp o U B T A B

(A) Al (13) <pH

() 3 @ HIS T

The strength of o bond in comparison to o bond is

(C) =

(A}  more © (B) less
(C)  equal (D)  none of these
4. Puafifas 3 feed st &1 @ gm g 2 2
(A) el (B)  wEARH
(C) g T - (D) T A WE
Which of the following contains three pairs,df electrons ?
(A)  Carbocation - (B) | Carbanion
) (C) Free rézdical (D)  None of these
65. fi=fafga & w7 aifimerd 7€ 2. >
(A) H,O" ,(B) CH,OH
(C}) H, I(D} NH,

Which of the following is not a nucleophile ?

(A)  H,O (B) CH,OH
(C) H, (D) NH,

66. QA HiWH Ve Trd B &
(A) CH, # . (B) CH®
(C) CH,? (D) C,H,d
Two successive alkanes differ from
(A} CH, (B) CH
© cH, | D) C,H,

e

|Bf¥”af|1ﬂﬂ?f [ P
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69.

70.

[ 118 ]
o vl & Stefla et & forega aggy g u s A B, @ a8 Ta 2

) WliRw anm B) Uefremuss
(€) SR Wi (D) ufre v

An aqueous solution of a subsigpnee on clectrolysis gives ethane,
then the substance is

(A)  Acctic acid (B) Acetamide
(C) Potassium acetate (D) Ethyl acetate
a8 A S & KMnO ) TTé e 2, 7€ 2
(A)  CiH, B) C,H,
(¢ CH, | (D) C;Cl 4

The compound which decolorizes alkaline KMnO ,is

(A) C,H, (B) C,H,

(€ CH, (D) cCl,
Prefefua § B amREEI R 2 oy

(A) /gt B) s

Q) e wme (D) T A B T

Which of the following is a hydrocarbon ?

) (A) Urea " (B} Benzene

(C) Ammonium cyanate (D) None of these

e diEEEE W % dnraitea 8 AR ek S
(A) HIEH (B) HEEIEHIATS

© o B (D) S

Carbon monoxide reacts with haemoglobin of blood to form

(A) Phosgene (B}  Carboxyhaemoglobin

(D)  Oxyhaemoglobin

(C) Red blood corpuscles
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@8 - ¥ / SECTION - B

&g ﬁﬁﬂ uy+ / Short Answer Type Questiuns
T wegr 1 @ 20 g I & | Y jo wyA F I F ;m%h‘

2 ¥ fruffia # : 10x2-,
4

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questig,,.
1I0x5..

<,

Each question carries 2 marks :

. TRr g & faw # ford a4 Tmgmd) :
Write and explain the law of constant proportion.

2. WE] gHAH R FTE 2
What is atomic mass unit ?

3.  TIRHE ¥ FEW a1 SeAHH T IgT Hi| m
Mention the charge and mass of a proton.

4. YEETIfes ATfeed #7182 .

What is atomic orbital ?

5.  UB ama el FEa 2 7 :
What is surface tcnsiqn'? - N
6. TR W wiw % g wd g § R Hay @ 2 ; F 5

What is the relation betweem pressure and density of a gas a
constant temperature ?

7.  TaATTers R e o € 2 . )
What are extensive and intensive properties ?

8.  HHTIGA % gud fram #r foad| 2
Write the first law of thermodynamics.

9. I W 4w gaHf gy & fherd +1 ol :
Wr\ite Lewis concept of acids and bases.

10.  Q CH semiia el #) ferd Rl K, =k 2 ’

Write two reversible reactions for which K p=Kq.

11, FEfafEd 3§ or o swde e fe

| o]

(a) KQCI'O4 (b) KQCrQO?
Calculate oxidation number of Cr in the following :
(@ K,Cro, (b) K,Cr,O,

\Ima /11002 I . A 2



12.

13.

14.

15.

16.

17.

18.

19.

20,

[118]

ﬁﬂmﬁmﬁﬂﬁiﬁmwﬁmﬁgmaﬁ?ﬂ%7 2
How does atomic radius of clepyentg vary in 8 period of Periodic
Table ?

2

F,» Cla: Br, 3R I, ﬁmﬁmgwégm%ﬂﬁml
Arrange F,, Cl,, Br, and | , in the increasing order of their
electron a.fﬁnities.

o 3R n TUF | 39w wHQ § 2
what do you understand b ?

,E-wﬁéqaﬁ_aﬁw%?yﬁandﬂbonds ,
What is lone pair of electrons ? ~
I ! HISRAT § 3T F41 g0 & - 2
What do you understand by hardness of water ? o
agg 1 Tedll & Hohd W IWh! Ty we R 2
Write symbols and atomic numbers of group 1 elements.
TSI 3 U WG 30 % ovgs ford| 2
Write molecular formulae of orthoboric acid and metaboric acid.
g At PR e € | 2
What is homologous series ?

1+1

G AT FT & ? TH IGE Sl JA|
What is chain isomerism ? Explain with an example.
e 3939 U9 / Long Answer Type Questions

woT WET 21 @ 26 e sAtT W & | ot 3wl &y § 1 9w F oy
5 3% fafia 2 : - 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks : 3x5=15
21. frfifaq ffrE % [UPAC T fad@ : 5x1=5
(I:H3 : " CH— (':H—CHECHs
CH, .
P

() CH—CH—CHJCI () CH, -CH, -COOH

() CH,COOCH,
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22,

24.

26.

Write [UPAC names of the following compounds :

?Ha Cl"lf"C[']'_'CH 2(:“;
b — ) |
(@)  CH, (; CH,CH; (b) L
CH,
CH,

() CHS—éH—CH Cl (d) CH,-CH,-COOH

(e} CH,COOCH,

%ammﬁwwammmhﬁ%mrgm
T forg| 25+23=5

Write structural formulae and names of any two position and any
two chain isomers.

mmﬁmwmﬁ Jag%ﬁmw@m% ? IE 2|
2+2+1=3

What do you understand by Inductive effect ? What are its types ?

Give examples.

=R R Hiaw feupft ford 2x23=5

(a) Hehor rfifsean

(b)  FEERAEE sl sHfe

Write short notes on the f&llowing :

(a)  Addition reaction

(b)  Electrophilic substitution reaction.

farvl Hay 71 2 2 Li 3R Mg % il # ® gwraEnd § o 2+3=5

What is diagonal relationship ? What are the similarities between

the properties of Li and Mg ?

Huiefad w afeg fopft forg 2« 2

(a) HIE=TA]

(b) =N g e

Write short notes on the following :
(a) Allotropy
(b) Borax bead test.

=3

P —

-'-._______-‘"l—-— e e =
—_———— T

S -
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